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JRETELE gBafEg n = = 1B =Z 1B B &
EEXRIFE 45 |5 X 25.5 2,000 500
==y Ly 32.1 1,200 1,000
> up YAVIN 94 .4 2,169 500
AE AN 28.6 119 20
HY= 42.5 1,930 600
AnERfE 42& > A 9,088.3 555 320
ERE 172 =y ko) 21.7 509 219
Bt o HRwFHA 2,587.5 666 311
hC 33& =y i) 34.6 292 169
EXTVYVRS 182.7 169 100
aituE 12,137.9




[;Efa] (BT ¢ kg )

pHE i miEH B = = 1B Z 1B " =
EERFE 458 |ESA 658.6 2,300 600
ASHLA 44.9 1,000 600
<IALA 33.9 1,100 500
<43 55.9 1,150 1,000
MU 2% RZF 26.0 750 650
g0 25% ESX 238.7 2,300 1,600
hZ 33% <40 2,532.7 1,300 1,000
aitiE 3,590.7




